

UTILIZING AN INTEGRATING FACTOR TO CONVERT A RIGHT FOCAL BOUNDARY VALUE PROBLEM TO A FIXED POINT PROBLEM

RICHARD I. AVERY* AND DOUGLAS R. ANDERSON

Dedicated to Paul Eloe on the occasion of his retirement

(Communicated by J. Lyons)

Abstract. An integrating factor is used to convert a conjugate boundary value problem to a fixed point problem. We conclude with an application illustrating the ease of use in finding an upper solution to a family of boundary value problems that one can apply iteration to in order to solve when the nonlinear term is monotonic.

1. Introduction

Converting a nonlinear boundary value problem to a fixed point problem is usually the first step one takes to find a solution or to verify that a solution exists, since the solutions of the boundary value problem in the underlying cone are fixed points of the associated operator. Thus, converting a nonlinear boundary value problem to a fixed point problem is a worthwhile endeavor. A standard method of converting a boundary value problem to a fixed point problem is to use Green's functions, see Duffy [16] for a thorough treatment of Green's functions. Avery and Peterson [6, 7] and Burton and Zhang [10, 11] brought the operator inside of the nonlinear term to convert the boundary value problem to a fixed point problem; Burton calls the resulting operator a Direct Fixed Point Mapping. When the nonlinear term involves a product or a sum of terms, there have been conversions creating sums as well as products of operators, see [4, 12, 15] for some examples and background reading. There have also been modifications of the Green's function approach applying or generalizing a Mann iteration scheme, see [1, 13, 14, 17, 18, 19] for some examples including iterative examples. In this paper we will convert a conjugate boundary value problem to a fixed point problem utilizing an integrating factor. A similar integrating factor technique was used by Avery [2] for a right focal difference equation and Avery, Anderson and Henderson [3] for a right focal boundary value problem. Similar to the p -Laplacian three point boundary value problem conversion (see [5] for an example) to a fixed point problem, we will integrate

Mathematics subject classification (2020): 47H10, 34B18.

Keywords and phrases: Fixed point, right focal boundary value problem, integrating factor.

* Corresponding author.

one step at a time, utilizing symmetry. To utilize symmetry, we define an appropriate cone and verify that our resulting operator maps the cone back into itself.

The power of our approach is that it decreases the size of our nonlinear term while remaining non-negative if we know that it is always greater than a multiple of the input; that is, if there is a λ such that $f(x) \geq \lambda x$ for all nonnegative x . When one has two different operators whose fixed points are the solutions of the same boundary value problem, the advantage of one over the other is not that their fixed points are different solutions. The advantage of one over the other is in the ease with which one finds the fixed points, as the operators will have the same fixed points. When the corresponding operators are increasing, the ease corresponds to the difficulty in finding an upper solution (element of the cone in which $Ax \leq x$ so we know that the sequence $\{A^n x\}$ converges to a fixed point of the operator A). A common family of functions used to search for an upper solution are constant functions, due to the ease in calculating the output. In our provided example, we will show that the Green's function approach has no constant function that is an upper estimate, however a constant function is an upper estimate for a solution utilizing the integrating factor conversion method. We conclude with an example of our technique utilizing monotonicity; for a review of monotonic techniques, see [23, 24].

2. Using an integrating factor to create a fixed point problem

The second order conjugate boundary value problem is given by

$$x''(t) + f(x(t)) = 0, \quad t \in (0, 1), \tag{1}$$

$$x(0) = x(1) = 0, \tag{2}$$

where (the possibly non-linear) f is continuous. The standard method to convert the boundary value problem (1), (2) to a fixed point problem is to define the operator T by

$$Tx(t) := \int_0^1 G(t,s)f(x(s))ds, \tag{3}$$

where

$$G(t,s) = \begin{cases} t(1-s), & 0 \leq t \leq s \leq 1, \\ s(1-t), & 0 \leq s \leq t \leq 1 \end{cases} \tag{4}$$

is the corresponding Green's function (see [16] for a thorough treatment of Green's functions and their applications). Then, x is a solution of the boundary value problem (1), (2) if and only if x is a fixed point of the operator T .

Let

$$P = \left\{ x \in C[0, 1] : x(t) \geq 0 \text{ and } x(t) = x(1-t) \text{ for all } t \in \left[0, \frac{1}{2}\right] \right\}$$

which is a cone in $C[0, 1]$. Applying a Henderson symmetry argument, it was shown in [8] that $T : P \rightarrow P$. For a function $\lambda : [0, 1] \rightarrow [0, \infty)$ and for $y \in P$, let

$$Ay(t) := \int_0^t e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(y(r)) dr - \lambda(s)y(s) \right) ds \tag{5}$$

for $t \in [0, \frac{1}{2}]$; for $t \in [\frac{1}{2}, 1]$, let $Ay(t) = Ay(1 - t)$. Below we verify that if $y \in P$ is a fixed point of A , then y is a symmetric solution of (1), (2), which provides a new method to convert the boundary value problem to a fixed point problem.

THEOREM 1. *For $y \in P$, y is a solution of (1), (2) if and only if y is a fixed point of the operator A .*

Proof. Let $y \in P$, and suppose that y is a solution of (1), (2). Therefore, y is a fixed point of the operator T , that is,

$$y(t) = Ty(t) = \int_0^t s(1-t)f(y(s)) ds + \int_t^1 t(1-s)f(y(s)) ds.$$

Hence, for $t \in [0, \frac{1}{2}]$, we have that

$$\begin{aligned} y'(t) &= (Ty)'(t) \\ &= t(1-t)f(y(t)) - \int_0^t sf(y(s)) ds - t(1-t)f(y(t)) + \int_t^1 (1-s)f(y(s)) ds \\ &= - \int_0^t sf(y(s)) ds - \int_{1-t}^0 uf(y(1-u)) du \\ &= - \int_0^t sf(y(s)) ds + \int_0^{1-t} uf(y(u)) du \\ &= \int_t^{1-t} sf(y(s)) ds \\ &= \int_t^{\frac{1}{2}} sf(y(s)) ds + \int_{\frac{1}{2}}^{1-t} sf(y(s)) ds \\ &= \int_t^{\frac{1}{2}} sf(y(s)) ds - \int_{\frac{1}{2}}^t (1-u)f(y(1-u)) du \\ &= \int_t^{\frac{1}{2}} sf(y(s)) ds + \int_t^{\frac{1}{2}} (1-s)f(y(s)) ds \\ &= \int_t^{\frac{1}{2}} f(y(s)) ds. \end{aligned}$$

Therefore, we have that

$$\begin{aligned} \frac{d}{dt} \left(y(t)e^{\int_t^{\frac{1}{2}} \lambda(r) dr} \right) &= e^{\int_t^{\frac{1}{2}} \lambda(r) dr} (y'(t) - \lambda(t)y(t)) \\ &= e^{\int_t^{\frac{1}{2}} \lambda(r) dr} \left(\int_t^{\frac{1}{2}} f(y(s)) ds - \lambda(t)y(t) \right). \end{aligned}$$

Hence, since $y(0) = 0$, by integrating we have that

$$y(t)e^{\int_t^{\frac{1}{2}} \lambda(r) dr} = \int_0^t e^{\int_s^{\frac{1}{2}} \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(y(r)) dr - \lambda(s)y(s) \right) ds,$$

and thus

$$y(t) = \int_0^t e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(y(r)) dr - \lambda(s)y(s) \right) ds = Ay(t).$$

We have verified that y is a fixed point of the operator A .

For the necessary direction, suppose that $z \in P$ is a fixed point of the operator A . Hence, for $t \in [0, \frac{1}{2}]$ we have that

$$z(t) = \int_0^t e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(z(r)) dr - \lambda(s)z(s) \right) ds = Az(t) = z(1-t).$$

Essentially reversing the steps in the sufficiency direction, we have that

$$z(t)e^{\int_t^{1/2} \lambda(r) dr} = \int_0^t e^{\int_s^{1/2} \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(z(r)) dr - \lambda(s)z(s) \right) ds.$$

Therefore, by differentiating we have

$$z'(t)e^{\int_t^{1/2} \lambda(r) dr} - \lambda(t)e^{\int_t^{1/2} \lambda(r) dr} z(t) = e^{\int_t^{1/2} \lambda(r) dr} \left(\int_t^{\frac{1}{2}} f(z(r)) dr - \lambda(t)z(t) \right),$$

so

$$z'(t) = \int_t^{\frac{1}{2}} f(z(r)) dr = (Tz)'(t).$$

Hence, by integrating we have that

$$z(t) = Tz(t)$$

since $Az(0) = 0 = z(0)$ and $Tz(0) = 0$ for all $z \in P$. Therefore, z is a fixed point of T and thus is a solution of (1), (2). \square

The operators T and A have the same fixed points which correspond to solutions of our boundary value problem. When f is increasing we have that T is increasing, but we need a few more hypotheses for the operator A to be increasing. When we have that additional information it can be easier to find upper solutions of our boundary value problem. Below we verify a condition for an operator A to be increasing, which very much depends on the function λ .

THEOREM 2. *For a real number α , define $\lambda(r) = \alpha(\frac{1}{2} - r)$, and suppose that f is a differentiable function with $f'(x) \geq \alpha$ for all $x \geq 0$. Then, the operator A is increasing on E .*

Proof. Let $y_0, y_1 \in P$ with $y_0 \leq y_1$. Thus, by properties of a cone, we have that for all $w, z \in [0, 1]$ with $w \leq z$ that

$$(y_1 - y_0)(w) \leq (y_1 - y_0)(z).$$

For $s \in [0, \frac{1}{2}]$, let $t_s \in [s, \frac{1}{2}]$ such that

$$\int_s^{\frac{1}{2}} [f(y_1(r)) - f(y_0(r))] dr = \left(\frac{1}{2} - s\right) [f(y_1(t_s)) - f(y_0(t_s))]$$

by the mean value theorem for integrals, and let $r_s \in [y_0(t_s), y_1(t_s)]$ such that

$$f(y_1(t_s)) - f(y_0(t_s)) = f'(r_s)(y_1(t_s) - y_0(t_s))$$

by the mean value theorem. Hence,

$$\begin{aligned} & (Ay_1 - Ay_0)(t) \\ &= \int_0^t e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} [f(y_1(r)) - f(y_0(r))] dr - \lambda(s)(y_1(s) - y_0(s)) \right) ds \\ &= \int_0^t e^{\int_s^t \lambda(r) dr} \left(\left(\frac{1}{2} - s\right) [f(y_1(t_s)) - f(y_0(t_s))] - \lambda(s)(y_1(s) - y_0(s)) \right) ds \\ &= \int_0^t e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (f(y_1(t_s)) - f(y_0(t_s)) - \alpha(y_1(s) - y_0(s))) ds \\ &\geq \int_0^t e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (f(y_1(t_s)) - f(y_0(t_s)) - \alpha(y_1(t_s) - y_0(t_s))) ds \\ &\geq \int_0^t e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (f'(r_s)(y_1(t_s) - y_0(t_s)) - \alpha(y_1(t_s) - y_0(t_s))) ds \\ &= \int_0^t e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (y_1(t_s) - y_0(t_s)) (f'(r_s) - \alpha) ds \\ &\geq 0, \end{aligned}$$

and

$$\begin{aligned} & (Ay_1 - Ay_0)'(t) \\ &= \int_t^{\frac{1}{2}} f(y_1(r)) - f(y_0(r)) dr - \lambda(t)(y_1(t) - y_0(t)) \\ &\quad + \int_0^t \lambda(t) e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(y_1(r)) - f(y_0(r)) dr - \lambda(s)(y_1(s) - y_0(s)) \right) ds \\ &= \left(\frac{1}{2} - t\right) f(y_1(t_t)) - f(y_0(t_t)) - \lambda(t)(y_1(t) - y_0(t)) \\ &\quad + \int_0^t \lambda(t) e^{\int_s^t \lambda(r) dr} \left(\left(\frac{1}{2} - s\right) f(y_1(t_s)) - f(y_0(t_s)) - \lambda(s)(y_1(s) - y_0(s)) \right) ds \\ &= \left(\frac{1}{2} - t\right) (f(y_1(t_t)) - f(y_0(t_t)) - \alpha(y_1(t) - y_0(t))) \\ &\quad + \int_0^t \lambda(t) e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (f(y_1(t_s)) - f(y_0(t_s)) - \alpha(y_1(s) - y_0(s))) ds \end{aligned}$$

$$\begin{aligned}
 &= \left(\frac{1}{2} - t\right) (f'(r_t)(y_1(t) - y_0(t)) - \alpha(y_1(t) - y_0(t))) \\
 &\quad + \int_0^t \lambda(t)e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (f'(r_s)(y_1(s) - y_0(s)) - \alpha(y_1(s) - y_0(s))) ds \\
 &= \left(\frac{1}{2} - t\right) (y_1(t) - y_0(t)) (f'(r_t) - \alpha) \\
 &\quad + \int_0^t \lambda(t)e^{\int_s^t \lambda(r) dr} \left(\frac{1}{2} - s\right) (y_1(s) - y_0(s)) (f'(r_s) - \alpha) ds \\
 &\geq 0.
 \end{aligned}$$

Therefore, $Ay_1 - Ay_0$ is non-negative and increasing. Clearly, $(Ay_1 - Ay_0)(t) = (Ay_1 - Ay_0)(1 - t)$, hence $Ay_1 - Ay_0 \in P$. Thus,

$$Ay_0 \leq Ay_1$$

and we have proven that A is an increasing operator on the cone P . \square

3. Applications

In a cone, when an increasing operator has an upper estimate for a fixed point, there is a fixed point for the operator which can be found by iteration. For the boundary value problem (1), (2), when $f'(x) \geq 8$ (so $f(x) \geq 8x$ since $f(0) \geq 0$ as $f : [0, \infty) \rightarrow [0, \infty)$) for all x , then for every positive real number R and corresponding function $y_R(t) \equiv R$ we have that

$$Ty_R\left(\frac{1}{2}\right) = \int_0^1 G\left(\frac{1}{2}, s\right) f(R) ds = \frac{f(R)}{8} > R$$

hence T does not have a constant, upper solution. In the application below, we show that if the function f satisfies some additional hypotheses, then the operator A does have a constant upper solution, in which case the fixed point of A (which is also a fixed point of T) can be found by iterating on this upper estimate for a fixed point of A .

THEOREM 3. *For a positive, real number α , define $\lambda(r) = \alpha\left(\frac{1}{2} - r\right)$. Suppose that f is a differentiable function with $f'(x) \geq \alpha$ for all $x \geq 0$. If $k > \alpha$ is a real number such that*

$$(k - \alpha)e^{\frac{\alpha}{8}} \leq \alpha$$

and

$$f(R) \leq kR,$$

then

$$y_0 = R$$

is an upper estimate for a fixed point of A . Hence, the sequence of Picard iterates defined by $y_{n+1} = Ay_n$ for whole numbers n converges to a fixed point of the operator A which is a solution of the boundary value problem (1), (2).

Proof. Let $y_0 \equiv R$. Thus, for $t \in [0, \frac{1}{2}]$, we have

$$\begin{aligned} Ay_0(t) &= \int_0^t e^{\int_s^t \lambda(r) dr} \left(\int_s^{\frac{1}{2}} f(R) dr - \alpha \left(\frac{1}{2} - s \right) R \right) ds \\ &\leq \int_0^t e^{\frac{\alpha(1-2s)^2}{8}} \left(\int_s^{\frac{1}{2}} (k - \alpha)R dr \right) ds \\ &= \left(\frac{(k - \alpha)R}{2} \right) \int_0^t (1 - 2s) e^{\frac{\alpha(1-2s)^2}{8}} ds \\ &= \left(\frac{(k - \alpha)R}{\alpha} \right) \int_{\frac{\alpha}{8}}^{\frac{\alpha}{8}} e^u du \\ &= \left(\frac{(k - \alpha)R}{\alpha} \right) \left(e^{\frac{\alpha}{8}} - e^{-\frac{\alpha(1-2t)^2}{8}} \right) \\ &\leq \left(\frac{(k - \alpha)R}{\alpha} \right) e^{\frac{\alpha}{8}} \\ &\leq R = y_0(t). \end{aligned}$$

Therefore,

$$y_1 = Ay_0 \leq y_0,$$

hence we have that

$$\{y_n\}_{n=0}^\infty \subseteq P$$

is a bounded, equicontinuous family of functions. It follows, by the Ascoli-Arzela Theorem, that $y_n \rightarrow y^* \in P$, which is a fixed point of the operator A . Hence, y^* is a solution of the boundary value problem (1), (2). \square

EXAMPLE 1. The boundary value problem

$$y''(t) + 11y(t) + 2\cos(y(t)) = 0, \quad t \in (0, 1), \tag{6}$$

$$y(0) = y(1) = 0, \tag{7}$$

has a solution guaranteed by Theorem 3 with upper solution $y_0 \equiv \frac{\pi}{2}$, $\lambda = 9$ and $k = 11$ since

$$f'(y) = 11 - 2\sin(y) \geq 9,$$

$$f\left(\frac{\pi}{2}\right) \leq \frac{11\pi}{2},$$

and

$$(11 - 9)e^{\frac{9}{8}} \leq 9.$$

Acknowledgements. The authors extend their appreciation to the guest editors and the referees for their valuable remarks and comments.

REFERENCES

- [1] M. ABUSHAMMALA, S. A. KHURI AND A. SAYFY, *A novel fixed point iteration method for the solution of third order boundary value problems*, Appl. Math. Comput., **271**, (2015), 131–141, <https://doi.org/10.1016/j.amc.2015.08.129>.
- [2] R. AVERY, *Alternative fixed point method*, Int. J. Difference Equ., **15.2** (2020), ISSN 0973-6069.
- [3] D. ANDERSON, R. AVERY, AND J. HENDERSON, *Using an integrating factor followed by a substitution to transform a BVP to a fixed point problem*, Panam. Math. J., **31.4** (2021), 31–40.
- [4] D. ANDERSON, R. AVERY, AND J. HENDERSON, *Layered compression-expansion fixed point theorem*, RFPTA, **2018** (2018), Article ID 201825.
- [5] R. I. AVERY AND J. HENDERSON, *Existence of three positive pseudo-symmetric solutions for a one dimensional p -Laplacian*, J. Math. Anal. Appl., **277**, (2003), 395–404.
- [6] R. I. AVERY AND A. C. PETERSON, *Multiple positive solutions of a discrete second order conjugate problem*, Panam. Math. J., **8.3** (1998), 1–12.
- [7] R. I. AVERY, D. O'REGAN AND J. HENDERSON, *Dual of the compression-expansion fixed point theorems*, J. Fixed Point Theory Appl., **2007** (2007), Article ID 90715, 11 pages, <https://doi.org/10.1155/2007/90715>.
- [8] R. AVERY AND J. HENDERSON, *Three symmetric positive solutions for a second order boundary value problem*, Appl. Math. Lett., **13**, (2000), 1–7.
- [9] S. BANACH, *Sur les opérations dans les ensembles abstraits et leurs applications*, Fundam. Math., **13**, (1922), 133–181.
- [10] T. A. BURTON, *Fixed points, differential equations, and proper mappings*, Semin. Fixed Point Theory Cluj-Napoca, **3**, (2002), 19–32.
- [11] T. A. BURTON AND B. ZHANG, *Periodicity in delay equations by direct fixed point mapping*, Differential Equations Dynam. Systems, **6.4** (1998), 413–424.
- [12] M. CICHON AND M. A. METWALI, *On a fixed point theorem for the product of operators*, J. Fixed Point Theory Appl., **18**, (2016), 753–770.
- [13] J. CHEN, D. WU, AND C. ZHANG, *A new iterative scheme of modified Mann iteration in Banach space*, Abstr. Appl. Anal., (2014), 1–9, <https://doi.org/10.1155/2014/264909>.
- [14] B. A. B. DEHAISH AND M. A. KHAMSI, *Mann iteration process for monotone nonexpansive mappings*, Fixed Point Theory Appl., **177**, (2015), 1–7, <https://doi.org/10.1186/s13663-015-0416-0>.
- [15] B. C. DHAGE, *Remarks on two fixed-point theorems involving the sum and the product of two operators*, Comput. Math. Appl., **46**, (2003), 1779–1785.
- [16] D. DUFFY, *Green's Functions with Applications*, CRC Press, New York, 2015.
- [17] S. A. KHURI AND A. SAYFY, *An iterative method for boundary value problems*, Nonlinear Sci. Lett, A Math. Phys. Mech., **8.2**, (2017), 178–186.
- [18] S. A. KHURI AND A. SAYFY, *Generalizing the variational iteration method for BVPs: proper setting of the correction functional*, Appl. Math. Lett., **68**, (2017), 68–75.
- [19] A. KILICMAN, K. R. ADEBOYE AND M. WADAI, *A variational fixed point iteration technique for the solution of second order differential equations*, Malaysian J. Sci., **35.1**, (2006), 29–36.
- [20] W. A. KIRK, *A fixed point theorem for mappings which do not increase distances*, Am. Math. Mon., **72**, (1965), 1004–1006.
- [21] M. A. KRASNOSEL'SKII, *Two remarks on the method of successive approximations*, Usp. Mat. Nauk., **10**, (1955), 123–127.
- [22] M. A. KRASNOSEL'SKII, *Some problems of nonlinear analysis*, Amer. Math. Soc. Transl. **10.2**, (1958) 345–409.

- [23] G. S. LADDE, V. LAKSHMIKANTHAM AND A. S. VATSALA, *Monotone Iterative Techniques for Nonlinear Differential Equations*, Pitman, Boston, 1985.
- [24] E. ZEIDLER, *Nonlinear Functional Analysis and its Applications I, Fixed Point Theorems*, Springer-Verlag, New York, 1986.

(Received December 20, 2021)

Richard I. Avery
College of Arts and Sciences
Dakota State University
Madison, SD 57042 USA
e-mail: rich.avery@dsu.edu

Douglas R. Anderson
Department of Mathematics
Concordia College, Moorhead, MN 56562 USA
e-mail: andersod@cord.edu